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CLASS : 10th (Secondary) Code No. 4203
Series : Sec. M/2019

Roll No. SET : B
o

MATHEMATICS
(Academic/Open)
[ = Td SIS At |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

TIg 3 gue | [ §% : 80

Time allowed : 3 hours | [ Maximum Marks : 80

° I AT I T fF I TeT9H 7 GRT g 15 T
797 32 81
Please make sure that the printed pages in this

question paper are 15 in number and it contains
32 questions.

° UyTUF H e & 3 G R9 T e T_Y 7O G F
B FOT-JikTl & G- 97 g
The Code No. and Set on the right side of the

question paper should be written by the candidate
on the front page of the answer-book.

° FYF TIT FH TV 0GT J& &7 G GEl, JoT H BB
e [
Before beginning to answer a question, its Serial
Number must be written.
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(2) 4203/(Set : B)
o Fu-gikTm & diF 7 @rll G/ 9 7 88/
Don’t leave blank page/pages in your answer-book.

o JuTyRTE % iR _#HE o e T Al o
ST & [rd ST frar g 7 #e

Except answer-book, no extra sheet will be given.
Write to the point and do not strike the written
answer.

o gl Ty T To FIT-UH GT SgeT fid)

Candidates must write their Roll Number on the
question paper.

. 7] ® FAY @7 @ [ TF Gred &Y [ F97-9H
?}Waaa?é qﬁw%a%ivswww#%?s‘ﬁw
&I TE 9T TE

Before answering the questions, ensure that you
have been supplied the correct and complete
question paper, no claim in this regard, will be
entertained after examination.
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A 3
General Instruction :
(i) & FeT ST &
All questions are compulsory.

(i) 3G Fo7-07 7 F7 32 Fo7 & 7 [F X G 7
gaoTFae @e:

This question paper consists of 32 questions
in all which are divided into four Sections :
A B CandD:
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(3)  4203/(Set : B)

G 9 : 57 @ § 1 716 7% Z7 16 F97 &,
9% J97 1 o & 81

Section A : There are 16 questions from 1
to 16, each of 1 mark.

G 39 @ 717 @21 T 75 797 &,
9% J97 3 37 # 8l

Section B : There are 5 questions from 17
to 21, each of 3 marks.

G 7 : 57 G § 22 7 27 7% FT 6 F97 &,
% 997 4 3% F &l

Section C : There are 6 questions from 22
to 27, each of 4 marks.

G 757 % 428 § 32 T FT5 J97 8,
T9% J97 5 37 T &

Section D : There are 5 questions from 28
to 32, each of S marks.

(i) @€ § F @ goq1 & o=ikE fAwew _RE 7 &
34 @ G Jo7 F g7 &1

Section D contains two questions where
internal choice have been provided. You

have to choose one of them.
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(4) 4203/(Set : B)

gus - A
SECTION-A

1. 0.10421%5%@5?%%13

p

q

Express 0.104 in the form

. fEEa ggmE X +7x+10 & IR W OPTRT F
ifol 1

Find the product of zeroes of quadratic polynomial

x2 +7x+10.
. FHE x—y=3 &R §+%=6 A x I y & a9
£

(A)

1

x=6,y=9 B) x=9,y=6

(D) FH & &5 T

The values of x and y from the equations

(C) x=8,y=5

Yy

x-y=3 and %+—:6 are :
(A) x=6,y=9 (B) x=9,y=6
(C) x=8,y=5 (D) None of these
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(5)  4203/(Set : B)

4. —3,—%,2, ........... A.P. & 11971 9§ ¥ : 1
(A) -38 (B) 28
(C) 22 (D) T & Hig &l
11th term of the A.P. : -3, —%, 2, i, is :
(A) -38 B) 28
(C) 22 (D) None of these

5. -5, -1, 3, 7, ceeverrrenn.. AP. & HE-3RK
i) 1
Find the common difference of the A.P. : -5, -1,
3, 7, i, .

6. ®IcHh § AT =& § | TRl 9=l H AT F]d g, R

WM H 9RT 1
g oa 3 B (qerem, gatmem)
Fill in the blank using the correct word given in
bracket :

All squares are ........... (similar, congruent)

7. 99 BT AABC ~ ADEF & X % &%d AT
64 cm? X 121 cm? ¥l 3@ EF = 15.4 cm, @ BC

H AM B 1

(A) 11.2cm B) 11.4cm

(C) 12.4 cm (D) ETH § Hi3 el
4203/(Set : B) P.T.O.
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(6) 4203/(Set : B)

Let AABC ~ ADEF and their areas Dbe,
respectively, 64 cm?2 and 121 cm?. If EF = 15.4

cm, then BC is :

(A) 11.2 cm B) 11.4cm
(C) 12.4cm (D) None of these
. IR TP, TQ #= O 9 Rl g0 W @ @we Wl 34
THR & 6 £POQ = 110°, @ £PTQ K & : 1
T
P
Lo\
(A) 80° (B) 90°
(C) 70° (D) 60°

If TP and TQ are two tangents to a circle with
centre O so that ZPOQ = 110°, then ZPTQ is :

T
P 1
Lo

(A) 80° (B) 90°

(C) 70° (D) 60°
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(7) 4203/(Set : B)

9. R @M & gfdf #iforg - 1
a0 & & fagell W oufEsT &\ Al @ &
............. Fed 2l

Fill in the blank :

A line intersecting a circle in two points is called

2 .

10. (-5,7) ¥R (-1, 3) fagalt & 9 & g0 & Hifm 1
Find the distance between the points (-5, 7) and

(1, 3).

11. (3, 4) A (5, 2) fogett ®F @™ acit 3@ & 7 {5
EIREEAIE LY 1

Find the mid point of the line joining the points
(3, 4) and (5, 2).

12, 12026° & oo o iR 1
cot 64°
Evaluate : tan26
cot 64°
4203/(Set : B) P.T.0.
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(8) 4203/(Set : B)
13. AABC # @& #I B @99 8 AB = 24 cm 3K

BC=7cm 8l cos A & qH B : 1
7 24

(A) 25 (B) 25

© (D) T ¥ B T

In AABC, right angled at B, AB = 24 cm, BC = 7 cm.
The value of cos A is :

7 24
(A) 25 (B) 25
(©) U (D) None of these

24

14. 4 cm B9 O ©F 990 % Uk BoU@US & &% S
Fifory, Fore®r HI°T 30° &1 (1 = 3.14 & TAN B §Y) 1

Find the area of a sector of a circle with radius
4 cm and of angle 30°. (use ©t = 3.14)

15. g9, S @ =g, ASE AR HaE HAT 10 m, 8 m

3 6 m F I & : 1
(A) 460 m3 (B) 480 m3
(C) 520 m? (D) & & F T

The volume of the cuboid, whose length, breadth
and height are 10 m, 8 m and 6 m respectively
is :

(A) 460 m3 (B) 480 m3
(C) 520 m3 (D) None of these
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(9) 4203/(Set : B)
16. T UGl & TH G Bl AT 81 AN TGl b GEIRT
T 13 BN %l IehdT S1q it 1

Two dice are thrown at the same time. Find the
probability of getting the sum on the dice is 13.
gls - §
SECTION - B
17. s FitW & /3 wF suRay @e B 3

Prove that \/E is irrational.

18. SgUs p(x)=x4—3x2+4x+5 &l agds g(x)=x2—x+1
H AT BT AT T AT ST i 3

Divide the polynomial p(x)=x*-3x?>+4x+5 by
the polynomial g(x)=x>-x+1. Find the quotient
and remainder.

19. TR 6 m dW Uh SR & & qH W B/ 6
TEE 4 m B, &% IE g9 UH HNR H BEl @
TE 28 m 21 HHR & HAR Fd i) 3

A vertical pole of length 6 m casts a shadow 4 m
long on the ground and the same time a tower
casts a shadow 28 m long. Find the height of the

tower.
20. APQR #, 5@ @I Q T B, PR + QR = 25 cm
@TPQ=50m%IsinPWqﬁ§lﬁﬁﬁlﬂl 3

In APQR, right-angled at Q, PR + QR = 25 cm
and PQ = 5 cm. Determine the values of sin P.
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(10) 4203/(Set : B)
21. I9 F &G 0 &, TG RE, 11 cm oM & Th
%W%W%?(n:%} 3

What is area of circle, the circumference of
which is equal to the perimeter of a square of

side 11 cm ? (n=2_72j

gUg - g
SECTION-C
22, & FHiN : 4
1,1 _,.1,1_13
2x 3y "3x 2y 6
Solve :
1,1 _,. 1 1_13
2x 3y "3x 2y 6

23. T @ g9 #H A § FEEBOT 4x% +3x+5=0 &
I Gl S it 4

Find the real roots of 4x2+3x+5=0 by the

method of completing the square.

24. 8 & TUH &Hh 15 O & AN I HiT) 4

Find the sum of the first 15 positive multiples
of 8.
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(11) 4203/(Set : B)

25. % U W BT ABC & qHEU Th BIYSl & &
W,Wwﬁﬁgﬁmcaﬁwﬁﬁmﬁﬁ%

2l 4
Construct a triangle similar to a given triangle

ABC with its sides equal to % of the corresponding
sides of the triangle ABC.

26. fgelt A(2, —2) 8iR B(-7, 4) & Sied a1 (@/ETS @l
q9-Rioid &3 A fagett & fdsiss o s 4

Find the co-ordinates of the points of trisection
of the line segment joining the points A(2, -2)
and B(-7, 4).

27. Th 9 7 3 910, 2 %% R 4 @@ $d (marbles)
3 IR 3H T F ¥ ©F FA1 AgHA R S §, @
Ta! F Wikeedr & 75 78 @ - 4

A box contains 3 blue, 2 white and 4 red
marbles. If a marble is drawn at random from
the box, what is the probability that it will be :

() &< %,
White,
(i) e E,
Blue,
(iii) @ R
Red.
4203/(Set : B) P.T.O.
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(12) 4203/(Set : B)
goE -
SECTION-D

28. 3 GEEA & a & X 180 B BIdl GET &
I dE H 8 T Bl AN WA I B 5

The difference of squares of two numbers is 180.
The square of the smaller number is 8 times the

larger number. Find the two numbers.

29. 5 cm B & g9 W T A Wyt @R difw, S
T 60° & HT T bl &l 5

Draw a pair of tangents to a circle of radius 5 cm
which are inclined to each other at an angle of

60°.

30. T% foorll el #1 ©6 5 m $¥ H W o B GE
P AT B &1 TEHT BT B B B T I G B
Rer § 1.3 m 79 & g % e & [ sgw
W i e feae BN =lRT Prad f5 Afwr & 60°
3 P W PHA A I8 o Rl 9% wEa T &k
7€ W qaC {6 G H UE-fog el @0 WAl &
Te-feg & B =T ? (V3 =1.73) 5
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(13) 4203/(Set : B)

An electrician has to repair an electric fault on
a pole of height 5 m. He needs to reach a
point 1.3 m below the top of the pole to
undertake the repair work. What should be the
length of the ladder that he should use which,
when inclined at an angle of 60° to the horizontal,
would enable him to reach the required position ?

(Take+/3 =1.73)

AYAT
OR

s FifT - 5

COS A 1+sinA

- =2secA
1+sinA COos A
Prove that :
COs A 1+SmA:25ecA

l1+sinA COos A

31. U% fgaT B 3.5 cm AW ©F 9% B SBR H E, X
SHl BT 9 U e W ARG B 39 Raw
WWwSm%sﬁi@Fﬁﬁwww
SERIEINIET S
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(14)
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4203/(Set : B)

A toy is in the form of a cone of radius 3.5 cm
mounted on a hemisphere of same radius. The
total height of toy is 15.5 cm. Find the total
surface area of the toy.

32. MHREd IRARAr s ® 7157 1 Hhiofg 5
#W 65-68|68-71|71-74|74-77|77-80|80-83|83-86
FR ST 2 4 3 8 7 4 2
Find the mean of the following frequency

distribution :

Class-Interval 65-68 |68-71|71-74|74-77|77-80|80-83|83-86
Frequency 2 4 3 8 7 4 2
YT
OR
FrToIReT IRERAT §e5T &l A S i 5

FI-STT | TSI
65-85
85-105 5
105-125 13
125-145 20
145-165 14
165-185 8
185-205 4
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(15) 4203/(Set : B)

Find the median of the following frequency

distribution :
Class-Interval | Frequency

65-85 4
85-105 5
105-125 13
125-145 20
145-165 14
165-185 8
185-205 4
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